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Schnitt A A
RahmenmaB = 2400
27.2 1150.4 44.8 1150.4 27.2
FligelmaB = 1162.4 FligelmaB = 1162.4
Rotmendibel 7,56102 1069.6 1069.6
/ GlasmaB = 1057.6 GlasmaB = 1057.6
Isolierglas  (8/12/8/12/8) Isolierglas  (8/12/8/12/8)
|
1029.6 1029.6
48.4 1108 87.2 1108 |._48.4
Schnitt B B
RahmenmaB8 = 2400
27.2 2345.6 27.2
Durchgangslichte = 2345.6
\ 978.4 978.4
:// GlasmaB = 966.4 GlasmaB = 966.4
|
|
|
! Isolierglas  (8/12/8/12/8) Isolierglas  (8/12/8/12/8)
|
: 8 8
938.4 938.4
FliigelmaB = 1139.6 FliigelmaB = 1139.6
48.4 2303.2
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